Nasobeni a deleni celych Cisel

Vypocitej:
a) b)
(-6) . (+3) = (+3) . (-6) =
(+9) . (-1) = (+3) . (-6) =
(+1) . (+8) = (-6) . (+4) =
(-5) . (+3) = (+6) . (-1) =
(-2) . (-8) = (+8) . (+5) =

Vypodéitej:

a)

(+7): (+1) = (+20) : (+35) =
(+24) : (+6) = (-36): (-4)=[9 |
(-18) : (+6) = (-4): (+2) =

(-12) : (-4) = (+56) : (+8) =

(+8) : (+8) = (+8) 1 (-1) =

Vypodéitej:
a) b)
(-9) . (+4) . (+1) = (-4).(-8).(+7)=
(-9). (-5). (+7) = (+2) . (-7) . (-1) =
(+8).(-8) . (-4) = (-1). (+3) . (+6) =
(+4). (+7).0=[_0 | (-7).(-2) . (+9) =
(-8) . (+5) . (-9) = (+8) . (+4) . (+3) =

Vypocditej:

a) b)

(+14) . (+7) : (-2) = (-49) . (-2) : (-7) =
(-9) . (+6) : (+5) = (-72) . (+6) : (-9) =

(+20) . (+2) : (-3) = (+40) . (+9) : (-8) =
(+9) . (+3) 1 (-1) = (-63) . (+3): (-9) =
(-45) . (+2) : (-9) = (-35) . (-2) : (+5) =

Vypocdite;j:

1. (1)) ). D)) ) () (1) (1) =
D). D DD ED DD D)) (1) =
(1) . D). () (1) (1) (1) . (+1) . (1) . (1) . (-1) =
(D). (D). @D D) DD DD ) (1) =
1. (-1). DD+ (1) (1) (1) (1) (1) =
D). DD EDED DD ED D) () =



